INSTRUCTIONS:				TIT	LE OF INFORM	OMB NO.					
									0579-0007		
					lational Poulti	DATE PREPARED					
						October 16, 2018					
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						ANNUAL	BURDEN				
				1	REPORTS		1		RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(I)	(J)	(Col. I x J) (K)	
9 CFR 145.2, 146.2	Memorandum of Understanding (State)	none	49	1	49	0.160	8				
145.3, 145.12	Flock Selecting and Testing Report (State)	VS 9-2	49	411	20,139	0.160	3,222				
145.3, 145.12	Flock Selecting and Testing Report - Flock Test Meat Chicken Slaughter Plants (State)	VS 9-2	49	1,135	55,615	0.160	8,898				
145.3, 145.12	Flock Selecting and Testing Report - Flock Test Meat Chicken Slaughter Plants (Business)	VS 9-2	107	520	55,640	0.160	8,902				
145.3, 145.12	Flock Selecting and Testing Report - Flock Test Turkey Slaughter Plants (State)	VS 9-2	26	14	364	0.160	58				
145.3, 145.12	Flock Selecting and Testing Report - Flock Test Turkey Slaughter Plants (Business)	VS 9-2	31	12	372	0.160	60				
145.3, 145.12	Flock Selecting and Testing Report - Flock Test Egg Producers (State)	VS 9-2	49	27	1,323	0.160	212				
145.3, 145.12	Flock Selecting and Testing Report - Flock Test Egg Producers (Business)	VS 9-2	1,312	1	1,312	0.160	210				
146.3, 145.12	Commercial Waterfowl/Game Bird Egg Producing Flock Surveillance (State) (Merged from 0579-0445)	VS 9-2	3	1	3	0.160	1				
SUBTOTAL					134,817		21,571	0		0	
TOTAL OF ALL PAGES			6,851		232,618		39,978	2,345		77,280	
	TOTAL  COLUMNS F + I = OMB 831, 13b  COLUMNS H + K = OMB 831, 13c				234,963		117,258				

NSTRUCTIONS:				TITLE OF INFORMATION COLLECTION DOCUMENT						OMB NO.		
									0579-	-0007		
				١	National Poultr	y Improveme	nt Plan (NPIP	<b>'</b> )	DATE PR	EPARED		
									October 16, 2018			
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						_1						
						RECORDS						
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS		
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)		
146.3, 145.12	Commercial Waterfowl/Game Bird Egg Producing Flock Surveillance (Business) (Merged from 0579-0445)		3	1	3	0.160	1					
145.12	Report of Sales of Hatching Eggs, Chicks, and Poults (State)	VS 9-3	49	327	16,023	0.250	4,006					
145.23	Summary of Breeding Flock, Table-Egg Layer Flocks, Meat-Type Chicken and Turkey Slaughter Plants Partcipation (State)	VS 9-4	48	8	384	4	1,536					
145.33	Report of Hatcheries, Dealers, and Independent Flocks, Table-Egg Producers, Meat-Type Chicken and Turkey Slaughter Plants Participating in the NPIP (State)	VS 9-5	49	6	294	0.500	147					
145.14, 145.53	Investigation of Salmonella Isolations in Poultry (State)	VS 9-7	1	1	1	2.000	2					
145.14, 145.53	Investigation of Salmonella Isolations in Poultry (Business)	VS 9-7	1	1	1	1	1					
147.1	Flock Inspection and Check Testing Report (State)	VS 9-8	49	3	147	0.200	29					
145.12	Hatchery Inspection Form (includes inspection) (State)	VS 9-9	49	22	1,078	0.200	216					
145.5, 145.14	Sentinel Birds Banded or Marked for Identification Prior to Flock Vaccination (State)	none	49	2	98	1.000	98					
145.5, 145.14	Sentinel Birds Banded or Marked for Identification Prior to Flock Vaccination (Business)	none	60	1	60	1	60					
	SUBTOTAL				18,089		6,096	0		0		

INSTRUCTIONS:			TIT	LE OF INFORM	OMB NO.						
						0579-0007					
				N	DATE PREPARED						
IDENTIFICATION OF REPORTING OR RECORD/FEDING REQUIREMENT											
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS					RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)	
145	Request for Salmonella Serotyping (State)	VS 10-3	49	127	6,223	0.160	996				
145.45, .74, .84	Application For U.S. Avian InfluenzaClean Compartment Registration (State) (new)	VS 9-20	7	1	7	1	7				
145.45, .74, .84	Application For U.S. Avian InfluenzaClean Compartment Registration (Business) (new)	VS 9-20	7	1	7	40	280				
145.45, .74, .84	Application For U.S. Avian InfluenzaClean Compartment Component Registration (State) (new)	VS 9-21	7	25	175	1	175				
145.45, .74, .84	Application For U.S. Avian InfluenzaClean Compartment Component Registration (Business) (new)	VS 9-21	7	25	175	40	7,000				
145.45, .74, .84	Application For U.S. Avian InfluenzaClean Compartment Component Removall (State) (new)	VS 9-22	1	1	1	0.250	1				
145.45, .74, .84	Application For U.S. Avian InfluenzaClean Compartment Component Removal (Business) (new)	VS 9-22	1	1	1	1	1				
145.45, .74, .85	Component Audit (Business) (new)		3	100	300	2	600				
145.45, .74, .85	Auditor Application for USDA-APHIS-VS-NPIPAI Clean Compartment Program (Business) (new)	VS 9-23	1	1	1	1	1				
145.45, .74, .85	Compliance Statement (State) (new)		49	6	294	0.050	15				
145.45, .74, .85	Compliance Statement (Business) (new)		3,000	17	51,000	0.050	2,550				

58,184

11,626

SUBTOTAL

NSTRUCTIONS:				TITLE OF INFORMATION COLLECTION DOCUMENT						OMB NO.	
									0579-	0007	
				N	<b>'</b> )	DATE PREPARED					
					October 16, 2018						
IDENTIFICATION OF REPORTING OR RECORDIVE FRING REQUIREMENT						ANNUAL	BURDEN				
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)	
	Compliance Statement (Individual) (new)		1,506	1	1,506	0.050	75				
147.21	Printing and Mailing Computerized Printouts (State)	none	12	834	10,008	0.030	300				
147.21	Printing and Mailing Computerized Printouts (Business)	none	834	12	10,008	0.030	300				
147.53	Diagnostic Test Evaluation (Business) (Merged from 0579-0445)	none	4	1	4	1	4				
56.4, 56.9	Appraisal and Indemnity Claim for Animals Destroyed or Materials Destroyed (State)	VS 1-23, 1-24, and 1-26	1	1	1	3	3				
	Appraisal and Indemnity Claim for Animals Destroyed or Materials Destroyed (Business)	VS 1-23, 1-24, and 1-26	1	1	1	3	3				
145.4, .12; 146.4, .12	Recordkeeping (State)	none			0		0	49	640	31,360	
145.4, .12; 146.4, .12	Recordkeeping (Business)	none			0		0	2,296	20	45,920	
	SUBTOTAL				21,528		685	2,345		77,280	